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Question ID: 100228
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Question Type: | MCQ
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Item No: 35
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Question
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Item No: 37
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Type: MCQ
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Question Type: | MCQ
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Type: MCQ
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Topic: Physics-Section A
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Type: MCQ
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Topic: Physics-Section A
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Question ID: | 100244
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Item No: 45
Question ID: 100245
Question Type: | MCQ
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Item No: 46
Question 1 100246
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Item No: 47

Question | 100247
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Topic: Physics-Section A

Item No: 48

Question ID: | 100248

_?;pees:tion MCQ
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Topic: Physics-Section A

Item No: 49

Question | 100249

_?;pees:tion MCQ

Ovestion UL in25 J i 50 1k /,fs,r,él?é G HRETELG 20 £ unl i UL
B PP S L YIS L L unr 24 13
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Topic: Physics-Section A
Iltem No: 50

Question ID: 100250

Question Type:

MCQ
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Question
D- 100251
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Topic: Physics-Section B
Item No: 52
Question
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Topic: Physics-Section B
Item No: 53
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Topic: Physics-Section B
Item No: 54
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Topic: Physics-Section B
Item No: 55
Question ID: 100255
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Topic: Physics-Section B
Iltem No: 56
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Topic: Physics-Section B
Item No: 57
Qgestion 100257
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Topic: Physics-Section B
Iltem No: 58
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Topic: Physics-Section B
Iltem No: 59
Question
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Question .
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Topic: Physics-Section B
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Type:
22§ Qs S AU Y2 6X1076m oF ~e 06V A AL J’f’w-q <Al
Question: ‘

ne x 105 N/C

Topic:

Chemistry-Section A




Item No: 61
Question ID: 100261
Question Type: | MCQ
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